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The present study investigated the errors made in reading standard Chinese
characters by students of the Confucius Institute at the University of Nairobi.
Each participant was given a passage to read aloud in isolation while being
recorded using an audio recorder. Errors were then identified and analysed. The
study identified three major types of errors: errors of substitution, errors of
omission and errors of addition. In this paper only errors of substitution are

discussed because they were numerous.
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1. INTRODUCTION

This paper analyses errors made in reading Chinese characters by learners of
Standard Chinese, also known as Putonghua or Mandarin, at the University of
Nairobi’s Confucius Institute. Analysing character-related reading errors is a major
way of testing whether the learners have understood and internalised Mandarin or
not. One of the researchers, who is a lecturer of Chinese at the University of
Nairobi, noticed frequent errors, made by her students, of the following types:
substitution of characters and substitution of components of characters. These in
turn caused lexical and semantic errors while some resulted in sentences that
were ungrammatical (ill-formed in Chinese). Students may have made these errors
as a result of identity of root characters, similarity of characters, and near-
similarity in pronunciation.

Learning how to read Chinese requires one to memorise all the characters and
recognize them correctly during the reading process. During the first few Chinese
language lessons for beginners the standard system of Romanised spelling for

Chinese, called Pinyin, is used (Liu, 2013). Pinyin is an alphabetic script that
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provides the spelling form corresponding to each character. Thereafter,
characters are slowly introduced. Bi (2017: 103-104) conducted research on
‘issues in teaching Chinese characters and strategies for foreign learners outside
the Chinese character culture circle’. She analysed writing errors made by first
year students of Chinese at Gdansk University in Poland and her research observed
that in order to achieve the best results in Chinese character teaching, they
should first conduct a comprehensive and meticulous classification of the errors
according to the characteristics of Chinese characters. The errors she observed
include stroke level errors which can be divided into two types: substitution
errors and addition or omission errors. It is our observation that the shapes of
some strokes are similar and this makes it hard for students to distinguish
between them. This in turn affects the effective reading of the intended
character. Chinese characters are usually memorised as a whole. Sometimes the
details of writing characters are easily neglected and this can lead to errors of
omission or addition at the stroke level. Component level errors usually happen on
the combined characters, and it can be divided into the following categories: (i)
Substitution errors at the component level which occur when a wrong stroke is
used, and (ii) omission or addition errors at the component level occurs when a
stroke is omitted or added which causes error in recognition of the character.
Chinese characters have their own rules of writing and composition. It is
important for the learners to pay attention to these rules to avoid making errors
at the overall configuration level.

Shu and Anderson (1997) conducted a study on the “Role of Radical Awareness
in the Character and Word Acquisition of Chinese Children” to examine issues
related to reading development. The study shows that learning to read includes
the acquisition of metalinguistic skills that are used to guide assignment of
character meaning. They explained that metalinguistic awareness is the ability to
identify and reflect on the structural features of language. Learning to read
requires becoming aware of the basic units of spoken language, the basic units of
the writing system and the mapping between the two.

In Chinese language some characters directly represent their meaning. For

example, in ancient Chinese, the symbol ( b ) was the character that represented

the object ‘moon’. Another type of character considered to be directly



28 Substitution errors made in reading Standard Chinese characters ...

meaningful is the ideograph. An ideograph is “[a] symbol that represents an idea

or a thing, rather than the sounds of a word.” (https://www.vocabulary.com).

Some of the examples include the characters for ‘up’ (1) and ‘down’ ('F). They
further demonstrate how modern Chinese contains a few compound ideographs in
which the components denote the elements in an event or idea, for example the
characters for jungle (#£), wood (<) and forest (#). It should be noted that the
types of characters that have meaning described by the character shape are only
about 18% of the total number of characters (Shu and Anderson 1997: 3). The
remaining 82% of modern Chinese characters are called standard compound
characters. They consist of two parts: a component called a radical which carries
information about meaning and one called a phonetic component which provide
information on pronunciation that every learner of Chinese has to internalise
(Hoosain, 1991; Li, 1977; and Taylor & Taylor, 1995 quoted by Shu and Anderson
(1997)).

In most cases, the radical indicates the conceptual category of the character.
In other words, there is usually a member-set relationship between a character
and its radical. For example, the characters for sister (%) and aunt (%) are
among the many characters that contain the female radical (%). In other cases,
the relationship of the radical to the meaning of the character is direct. For
example, the character ("), which means ‘sing’ has “the mouth (IJ)” radical. It
is easy to see that singing has a connection with the mouth. Although the Chinese
writing system is complex, it has a useful logic, which may not be apparent to
learners. Learners who understand this logic have an easier time learning to read
(Shu and Anderson 1997: 5). Students at the Confucius institute are taught this
logic.

In their study Shu and Anderson (1997) used two experiments to examine
radical awareness in children. In the first experiment, a total of 220 first, third
and fifth graders from a primary school in Beijing were divided into groups of high,
average and low verbal ability, based on their classroom teachers’ ratings. For
each grade, 90 characters were selected from the national reading textbooks. 30
of the characters were classified as familiar because they had been introduced in
the textbooks two grades earlier and the children had encountered them

numerous times. The familiar characters for the first graders were those
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introduced one semester before the test. At each grade, 30 characters had been
recently learned. These characters came from the textbooks students were using
in that semester. Finally, 30 characters were classified as unfamiliar to students
because they would not appear in the textbook until two grade levels above the
students’ current grade. Within each degree of familiarity there were 3 types of
characters, according to Shu and Anderson (1997: 5):
(i) There were morphologically transparent characters containing radicals helpful
for understanding the meaning of the whole character. For example, the

character ¥ which means ‘candle’ contains the radical ‘k, which means fire.

(ii) There were also morphologically opaque characters containing radicals that

were unrelated to the meaning of the whole character. An example is the

character #& ‘mistake’ that contains the radical £, which means metal.

(iii) Lastly, there were unanalysable characters, such as /X which means ‘owe’ and
cannot be analyzed into parts.

The opaque and unanalysable characters did not contain helpful morphology. So,
the difference between these two types and the transparent characters
represents the value students were able to derive from using morphology. The
children were presented with two-syllable words which were familiar from oral
language. One syllable was written as a character, the other was written in Pinyin.
According to Shu and Anderson (1997: 83) the “children’s task was to circle a
character to replace the Pinyin [form] in each two-syllable word. There were
three distractor characters with either the same pronunciation or the same
phonetic [component] as the correct character but a different radical”, as shown
in Table 1.

Table 1: Correct characters and distractor characters used in the study

Item Correct answer Meaning

Tiao¥ Bk It has the radical B which means ‘eye’. The whole

character means ‘look into the distance from a high

place’.
Distractors Meaning
# (tiao) It has the radical ¥ which means ‘hand’. The whole

character means ‘pick’.
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Bk (tiao) It has the radical £ which means ‘foot’. The whole
character means ‘jump’.
fk(tiao) It has the radical {1 which means ‘person’, which

means ‘skittish’.

The results of Shu and Anderson’s (1997) study were the following:

(i) The morphology was not very important for familiar characters, but had a
large effect on performance with recently learned characters and an even
larger effect on performance with unfamiliar characters.

(ii) Transparent morphology mainly helped older students. The third and fifth
graders assuredly were using radicals to derive unfamiliar characters as well
as to learn and remember characters recently introduced in school. There was
little indication of productive use of morphology by first graders.

(iii) Children with different levels of ability did equally well on the familiar
characters, but as familiarity decreased, the performance of higher and lower
ability children diverged.

(Shu and Anderson 1997: 85)

Higher ability children got significantly better scores than lower ability children.
There are two possible explanations, according to Shu and Anderson (1997: 85);
one is that high ability children may have more specific character knowledge than
low ability children including knowledge on some characters not yet introduced in
school. The other one is that high ability children may have more capability than
low ability children in recognising complex characters and using morphological
knowledge to assimilate the characters.

Wong (2020) conducted a study on the relationship between orthographic
awareness and Chinese reading among Hong Kong’s young learners of Chinese as a
Second Language (CSL Learners). The purpose of the study was to investigate the
relationship between the learners’ Chinese character reading performance and
their orthographic awareness. A Chinese character recognition test containing
Chinese characters, presented either as single or as two-character words, was
prepared. Each student was required to read the characters. After the test, the
students’ errors were categorised into two types, namely orthographical or

morphological ones. Wong (2020: 6) states that orthographic mistakes refer to
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cases in which students misread a character due to the similarity of its form with

other characters or its sharing of the same component with other characters, such
as 5 which was misread as & (“mother,” [...]) and & in 1%i& [was] misread as ;&

(“alive,” [...]).

The correct meaning for the character #% is ‘every’ while that of & is ‘word’.

Wong (2020: 6) then defines morphological mistakes and gives examples to

explain them further as:

cases in which students misread a character due to the similarity of its meaning
with that of other characters or some shared word-compounding effects. For
example, #§ which was misread as 4t (“north,” [...]) as both characters refer to
directions and 77 in +47 (the two-character word means “10 cents”) misread as Jt

(“dollar,” [...]; the two-character word 5t means “10 dollars”).
The character B means ‘south’.

Wong’s (2020) findings also suggest that orthographic awareness played a role in
the students’ Chinese character reading. They emphasise the importance of
helping CSL learners develop a solid knowledge base in Chinese orthography
(Wong, 2020: 11). Wong goes on to say that “[t]he findings also suggest that
morphological awareness played a role in the students’ Chinese character reading”
(p. 11). The next section deals with the methodology that was employed in the

current study.

2. METHODOLOGY

2.1 The participants

This was a study targeting all the students taking the Chinese language course at
undergraduate level in the Confucius Institute at the University of Nairobi from
September 2014 to September 2015. The population comprised 39 students: 30
females and 9 males, composed of 19 students from Year |, 7 from Year Il, 7 from
Year lll, and 6 from Year IV. Only thirty-three (33) students, comprising 25
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females (76%) and 8 males (24%) were used in the study; the remaining six had not
fulfilled the university requirements. They had not done all the exams expected
of them at their level.

The participants in the present study were introduced to Pinyin for the first six
lessons. During the six lessons, the teaching focused on the principal features of
the Chinese pronunciation system which include the Mandarin Chinese sound
system and the four tones. According to Liu (2013: x), students can gradually
achieve a good foundation in pronunciation by doing the exercises on spelling, the
four tones, sound discriminations and tone discriminations. Thereafter, they were

introduced to Chinese characters.

2.2 Data collection procedure

Each learner was given a short passage to read. The passages were picked from
the books recommended for learning Chinese at each level of study. Students in
each year were presented with a different passage, according to the level of
reading they should have attained. The passages were drawn from Liu (2002),
Books 1 to 4. The short passages were from p. 118 of Book 1 for Year I, p. 110 of
Book 2 for Year Il, p. 61 of Book 3 for Year Il and p. 59 of Book 4 for Year IV. An
audio recorder was used to record their readings, which were later replayed so

that errors could be identified and analysed.

2.3 Data analysis procedure

The researcher listened to each learner’s recorded reading to find out if the
learners were able to correctly recognize the Chinese characters. Errors were
identified where learners failed to correctly recognize the Chinese words. The
researcher transcribed the learners’ reading, compared them to the short passage
and marked errors in bold type.

The researcher selected a competent Chinese teacher who holds a Master of
Arts degree in Teaching Chinese language to speakers of other languages and has
passed HSK 6 (the highest level test), to confirm the errors. HSK stands for ‘Hanyu

Shuiping Kaoshi’ which can be translated as the Chinese Proficiency Test. It is a
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Standard Chinese language proficiency test for non-native speakers. It is

established to assess their proficiency in Chinese.

3. RESULTS AND DISCUSSION

This paper focuses on substitution errors, which are of two sub-types: substitution

of characters and substitution of components of characters.

3.1 Substitution of characters

There were errors of substitution of characters as seen in the examples in this
section. In (1) below, a character was replaced with another. The errors
identified and their corresponding expected responses in Chinese Characters are
presented in bold type while their translations in English are underlined.
(1) a) Error

7N 5 R /N EBe #3 ER FB.

Lin Nain Fine Arts  hospital is learning fine arts major

b) Expected response
w ' =R P £33 ER F.

(i) Lin Nain  Fine Arts Institute is learning fine arts major.( literal

translation)

(ii) Lin Na is learning fine arts as a major subject in the Fine Arts Institute.

(correct translation)
The word institute *#[5% was replaced with the word hospital (E[5%). The second
character of the word hospital [t is the same as that of institute (%) but the
first character of each of these two words is different. This can also be
categorised as a lexical error because it involves the replacement of one
character with another thereby causing a difference in word meaning.

There are Chinese words that have identical root characters. Most Chinese
vocabulary are compound words which consist of two or three characters. Many of
these compound words trace their roots to a popular set of characters, which we
call ‘root characters.” The meaning of these root characters, when combined

with the meanings of the other character(s) in the compound word, create the
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meaning of the compound word. A good example is already seen in (1) above. The
characters [£[5%, which means ‘hospital’, and %%, which means ‘institute’, share
a similar root character, namely [5%. The character ‘B’ has many meanings. Some
of the meanings include “courtyard; designation for certain government offices;
public place; college, institution” (https://www.trainchinese.com). In reading
this character it is possible that the learner could not distinguish between the two
words because they share a root character.

To illustrate further, a root character/word such as :[» means ‘heart’. It
combines with other characters to create new words, for example, #..> which

means ‘careless’, & .0» which means ‘evil/ruthless’, > ¥ which means
‘distressed’, //»[» which means ‘careful’, %€ ‘disappointed’ and 3%/ which

means ‘disgusted’. The root character that is common in all the compound words
is .[». It should be noted that in some compound words, the root character comes

first in the pair while in others, it is the second one. Table 2 shows some of these

compound words.

Table 2: Compound words with the root character il», which means ‘heart’

Character Meaning Character Meaning Compound Meaning
Word

5| Thick, rude, unrefined I Heart il Careless
= Black I Heart = Evil/ruthless
Ly Heart & Pain IMVE Distressed
M Small i Heart INE Careful
i Heart 3 Cold IHE Disappointed
b Badness, hate I Heart T 0 Disgusted

The error discussed in (2) is yet another lexical one that has resulted from
substitution of characters.
(2) a) Error
g FE =R iR F> EX T,

Lin Na in Fine Arts Institute is learning fine article  major.
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b) Expected response
7N I VN 2 3 EFN Z,

(i) Lin Na in  Fine Arts Institute is learning fine arts major.
(literal translation)
(i) Lin Na is learning fine arts as a major subject in the Fine Arts Institute.

(correct translation)

In example (2), 27K, which means ‘fine arts’, was replaced with %3, which

means ‘fine article’. The student failed to recognize the word fine arts and
instead read the word as fine article, which means a good piece of writing or text.
The lexical error discussed in (3) is a result of substitution of characters. The
details of the error can be seen below.
(3) a) Error
EHPX X FEAR  BE,
Sunday she goesto Chinese shop.

b) Expected response

EHX # =X PEAR B,
(i) Sunday she goesto Chinese mall. (literal translation)
(i) She goes to the Chinese mall on Sundays. (correct translation)

The word shop (7%)5) was replaced with mall 7%i7. It should be noted that the

first character in each of the words shop and mall is the same. Therefore, they
have identical root characters. The student may have confused one word for the
other because of this identity or identicalness.

The example in (4) is a similar error to that in (3). The term shop replaced mall,
as seen below.
(4) a) Error

B0 & s g —HE—H,
We in shop inside walk and talk.

b) Expected response
M # b7 =2} —E—LW

(i) We  in

3
=

inside walk and talk. ( literal translation)
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(i) We walk as we talk inside the mall. (correct translation)

517 ‘mall’ was, once again, read as /i ‘shop’. Both words/characters have the

meaning of ‘a place for shopping’. The first character in each case is P4, which
means ‘trade’ or ‘commerce’.
Another error of substitution is illustrated in example (5) below.
(5) a) Error
it HBRNKGFT FBR

He bought us passenger ticket.

b) Expected response
fit /IR EF T NE.
(i) He bought us air tickets. (literal translation)
(i1) He bought air tickets for us. (correct translation)
The term HLEE ‘air ticket’ was read as &FZE ‘passenger ticket’, which makes it a

lexical error. The second character in each case is 2, which means ‘ticket’.
In (6), Fim ‘mall’ was read as business /& ‘house’. The first character P

‘business’ in each word is exactly the same. This may be the source of the lexical
error.
(6) a) Error
20 =7 BE =:] —BTFE L.
We in Dbusiness house inside walk and talk.
b) Expected response
BN & @& :} —FELW

(i) We in all inside walk and talk. (literal

translation)

(i1) We walk as we talk inside the mall. (correct translation)

The student replaced the characters in the text they read with the characters 7§
F=, which is translated in English as business house. The combination of the

characters P4 ‘business’ and /= ‘house’ results in a compound word business house

that is not part of the Chinese vocabulary.
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The errors of substitution of characters seen in (7) and (8) rendered the
sentences meaningless. In other words, they became semantically ill formed.
(7) a) Error
] X80 HE# 2 & £,
We here Cheongsams are not machine grade produced.
b) Expected response

B X80 1E#E = L2 08
(i) We here Cheongsams are not machine produced. ( literal
translation)
(i1) Here, our Cheongsams are not produced by machine. (correct
translation)
The student read the characters #l& which means ‘machine grade’ instead of #l
7= which means ‘machine’. The first character of each word is exactly the same.
The second character of machine grade #l& has three components of the mouth
radical A. The second character of machine #l2§ has four of them. The similarity
in the components of the two characters may be the cause of the error.
Another reading error of substitution was made on the same character as
illustrated in (8) below.
(8) a) Error
2] XY j-gal 2 Hx AR,
We here  Cheongsams arenot  machinecry  produced.
b) Expected response

M LW 1E#E = R AR,

(i) We here Cheongsams  are not machine produced.
(literal translation)
(i) Here, our Cheongsams are not produced by machine. (correct
translation)
The characters HL3&, which means ‘machine cry’, was read instead of HL&%
‘machine’. The first character of each word is exactly the same. The second

character of machine cry (¥15%) has two components of the radical 11 which

means ‘mouth’ and ‘K which means ‘dog’. The second character of machine (F.2%)
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has four components of mouth (M) with X placed in between the two upper ones
and the two lower ones. The second character of machine cry (#152) is the same
as the upper part of the second character of machine (Hl%%). Learners need to
memorise these characters to avoid identifying them wrongly in the process of
reading.
The substitution of two characters in (9) led to a semantic error. The meaning

of the sentence was distorted as a result of this error.
(9) a) Error

X we ¥ M/ R EliE,

This shirt to you very answer.

b) Expected response
Xt we X R (i AE.
(i) This shirt to you very suitable. (literal translation)
(i1) This shirt is suitable for you. (correct translation)
The word suitable (&75&) was read as answer ([E1iE). In each of these two words,
the first characters are very different from each other. The second characters

resemble though they differ in the radical in each one of them. Whereas the

second character of the word, ‘suitable,’ has the radical (i_), the word ‘answer’

has the radical 1. The radical i_ is commonly known as &3 (Zéu Zhi Pang)

and its meaning has to do with ‘walking’. The radical “ 1 ” is commonly known as
=% (yanzipang) and its meaning is related to using language orally. So, it is
found in verbs such as talking (1%i&-shudhua) and discussing (1J1E-taolun). This

radical is always placed on the left side of a character.

The word walk (£A&) ‘zdu zou’ /zou zou/ was replaced with sit (2£42) ‘zuo zuo’
/zuo zuo/ in (10). Once again the two words are close in pronunciation. They also
share some strokes but in different positions, for example the stroke heng ‘—’ is
found in both words.

(10) a) Error
A X Tr B, & B —1TA E #HLE 44L&

That day after class, | just alone in street sat.
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b) Expected response
IS TT R, E B —TA & #HE EE.

(i) That day after class, | just alone in street walked.(literal
translation)

(i) That day after class, | just walked alone in the street. (correct
translation)

In sat (#£42), the strokes are found in the lower part of the word, while in &

they occur in the upper part. There is character reduplication in each one of them.

In other words, the two characters of each word are identical. These similarities

may have been the cause of the error made by the student. Table 3 shows the

strokes shared by the two words. In the same table and the subsequent ones, a

tick shows the presence of a stroke, while a blank one shows its absence.

Table 3: The strokes shared by characters of the words sit (4 4) and walk (FEE)

Strokes pie dian pie dian heng Shu heng shu heng pie na
J N N - I - I - J N
& v v v v
E v v v v v v v

There is a specific order that should be followed in writing these characters. The
table follows the order in which the strokes are written, from the first to the very
last one. It also shows the strokes that are similar in the two characters.
The error in (11) involves substitution of characters.
(11) a) Error
* mrE EEA i

én

- gl NiE.

| heard American speak how fluent Chinese.
b) Expected response

¥ OWwE  XEA 5 Xa RFE ONA

@i 1 heard American speak such fluent Chinese. (Literal

translation)
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(ii) | heard an American speak such fluent Chinese. (Correct

translation)

The word such (3XZ.) ‘zhé me’ was read as how ((EZ4.) ‘zén me’. The second

character in each case is Z.. It is treated as an error of substitution because the
first character of the word ‘such’ was replaced by another one. This lexical error,
brought about by substitution of characters in turn caused a semantic one. Just as
in the previous two examples, the two words in this example are almost similar in
pronunciation.

A lexical error of character substitution is seen in (12) where the student
replaced telephone call (EB1%) with TV (EEfll) ‘. The first character (), which

means ‘electric’ is part of both words. The second character in each case is
different from the other. They may have learnt these two Chinese words at the

same time.

(12) a) Error
w = ¥ BR SR»xn 7T —1 B,

LinNa can good friend Madawei made a TV.

b) Expected response
A0 ] ¥ MR BKRKA T —1 HiE

(i) Lin Na give good friend  Madawei made a telephone call.

(Literal translation)

(i) Lin Na  made a telephone call to Madawei, her good friend. (Correct

translation)

The word give (45) was also replaced with can (£). These two characters have

the similar parts, namely A and —. They appear in the upper part of both
characters. The same sentence is repeated in (13). One character was replaced by
another that is completely different from it. The word made (] 1) was replaced
with sent (i 7). In (12) and (13) the character for the word TV replaced that of
telephone call. The error of omission seen in (13) where dgirlfriend (%< AR )

replaced ‘good friend’ (41K) is beyond the scope of this paper.



41 Xu Jing Rotich, Jane A. N. Oduor & Catherine N. Agoya-Wotsuna

(13) a) Error

i & TR 5RH AT —1 B
Lin Na give girlfriend Madawei sent TV.
b) Expected response
LN E .Y AR 58 T —1 HiE,
(i) Lin Na give good friend Ma Dawei made a telephone call.
(Literal translation)
(i1) Lin Na made a telephone call to her good friend, Ma Dawei. (Correct

translation)

In the next example, the sentence in the passage presented to students to

read was long, so only the portion of it containing the identified error is

reproduced here.

(14) a) Error

>|_I_/-|

..want to buy

b) Expected response

..want to buy

translation)

PE % =

Chinese painting  send can
hE ] x4
Chinese painting send to

her.

.

her. (Literal/correct

The words send to (% %5) were replaced with send can (i%%), which is not

correct semantically both in Chinese and English. The second character in send to

(2% £8) has similar parts to that of can (£%). The similar parts are A\ and —. The

first one, A, has two strokes which we call pie (/) andna ( ) in Chinese.

Just as in example (12), they appear in the upper part of both characters. This

could be the source of the learner’s confusion in distinguishing between the two

characters.

The error in (15) could also be categorised as a lexical error because the words

whole body (4=%) were replaced with body (¥1£). The second character in the

former is identical with the first character of the latter.

(15)a) Error
1 #h

T &R
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Body all not comfortable.

b) Expected response
25 #H T FR

(i) Whole body all not comfortable. (Literal translation)
(i) The whole body is not comfortable. (Correct translation)

The student seemed to have replaced the character 4 (whole) with {& (body)
which also combines with £ to form & {& (body, health). The characters have
their own meaning; & means ‘whole’, while & means ‘body’. When the two
characters are combined to form 4%, it means ‘whole body.” These two words
(H1& and 45) are usually taught in the same lesson. It should be noted that the

three characters, namely {&, & and &{K all mean the same thing, i.e. ‘body’.

AX AX

The incorrect response in (16) shows that the words grandfather (5555) and

grandmother (W4W4) were replaced by elder brother &% and younger sister 4,
respectively. The word Canada (N4 K) was replaced by dormitory big (15 K).

These are lexical errors.
(16) a) Error
¥ # BFE bkik = B X KT

I and elder brother younger sister go to dormitory big  travel.

b) Expected response

M FF L] £ MEX HR1T.
(i) 1 and grandfather grandmother go to Canada travel.

(Literal translation)

(i) My grandfather, grandmother and | are travelling to Canada.

(Correct translation)

Kinship terms in Chinese have characters being repeated. For example 545

A AN

means ‘mother’, 5% means ‘father’, z5 i} means ‘younger brother’ and #H4H
means ‘elder sister’. So, the student must have realised that there were two

kinship terms in this sentence, hence he/she made a guess by mentioning any of

them. There is also a possibility that this student thought that the characters 55355
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and %5 mean ‘elder brother’ and ‘younger sister’, respectively, because this
error was repeated by the same student as illustrated in (17) below.

(17) a) Error
ESpS] 75 SRk ] = W HiE,

... because elder brother younger sister both cannot speak English.

b) Expected response

FSpS 5 54 ] T HiF,
(i) ... because grandfather grandmother  both cannot speak English.

(Literal translation)

(i1) ... because both grandfather and grandmother cannot speak English.

(Correct translation)
Just as in example (17) above, in example (18) below, the word Canada was
replaced by big dormitory ((f&+5K) dormitory big) by the same student.
(18) a) Error
¥ EEm £ BE X & 2,
My father in dormitory big is teacher.

b) Expected response

X wE &7 MmMEX L 2.
(i) My father in Canada is teacher. (Literal translation)
(i1) My father is a teacher in Canada. (Correct translation)

The second character of Canada (%) and the second character of big dormitory
(%) have the similar parts. The similarity is seen in the strokes A and — in the
upper part of each character. The component @ which means ‘mouth’ appeared
in different positions in both characters. 1 consists of three strokes, namely ‘ |
T . The student read the character for big as a separate word from the rest
of the characters making up the word Canada.

In (19) study abroad (BB%") was replaced with running a school (13%). The first
character in each word is different while the second one is exactly the same. This
is @ more complicated error involving the replacement of a phrase with another

one.
(19) a) Error
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#* E| xE NE B EE X M2 BAT.

| arrived America run school of fourth day is Valentine’s Day.
b) Expected response

* E =E B Bl X M2 BAT.
(i) 1 arrived America study abroad of fourth day is Valentine’s Day.

(Literal translation)

(ii) The fourth day, of my study abroad, in America, was Valentine's Day.
(Correct translation)

The word what replaced so in example (20) thus making the sentence
semantically incorrect.
(20) a) Error
#HOoEEE fit = H&
| did not expect hecan what do.
b) Expected response

T ORER fth = XA .
(i) | did not expect hecan so do. (Literal translation)
(i1) | did not expect him to do so. (Correct translation)

The Chinese word Zheme (iX.), which means so, was replaced with Shenme ({1

Z.) which means ‘what’. Their pronunciations are almost the same. The second
character me (£.) is the same in the two words. This replacement resulted in a
semantically-ill formed sentence. In other words, the student’s sentence was
meaningless.
The word need replaced important in (21). The two are related word forms in

Chinese and so they share the second character, (%), as seen below.

(21) a) Error

¥ OME BAD T HA R 1 REH TH.

I know Valentine’sDay in west is one need festival.
b) Expected response

E ®mE FAT # &5 = —1 EEM TH.
(i) 1 know Valentine’s Day in west is one  important festival.
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(Literal translation)

(i) | know Valentine’s Day is an important festival in the West. (Correct

translation)

The characters A (has) and % (want) are very close in pronunciation in Chinese.
There was an error of substitution which in turn resulted in a lexical error as
shown in (22).

(22) a) Error
i A& = g fth
Linna has goto see him.

b) Expected response
wg = = F ik

(i) Linna wants goto see him. (literal translation)
(i1) Linna wants to go to see him. (correct translation)
The word has () was read as want (%). & (has/have) is pronounced as ‘ydu’
/jou/, while Z (want) is pronounced as ‘yao’ /jau/. The closeness or similarity in
pronunciation could be a possible reason for this kind of error. They sound similar
but do not have the same meaning. The two verbs are also introduced to learners
at roughly the same time.
In (23), there is an error of substitution of a character. One student replaced
this question in (23b) with the one in (23a).
(23) a) Error
B E?
How to do?

b) Expected response

1O/ =X
(i) How is it? (literal translation)
(i1) How is it? (correct translation)

In the example above, to do (7}) replaced the character ¥ which does not occur

in isolation. The three characters, /E%.#¥, combine to form the sentence, ‘how

is it?’ This caused a semantic error because the meaning intended was lost or not
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realized when the student used to do (7}). It should be noted that ‘how to do’ is

written optionally with the character Wg, which is a question particle. In Chinese,
the question particle VWE is used at the end of a sentence to form a question or to

indicate that a response is expected. Therefore, how to do can be alternatively

written as /54 1f WE.

The error in (24) is a lexical one because the replacement of characters
changed the meaning of the word.
(24) a) Error
FE Pl

Chinese thing
b) Expected response
P E H
(i) Chinese painting (literal translation)
(i1) Chinese painting (correct translation)

There is a possibility that the student who made this error simply used the word

that he/she could recall. The second character of thing (<7) is slightly similar to

the character [#ij which means ‘painting’. The similarity is shown in table 4 below.

Table 4: The strokes shared by characters of the words thing (%<74) and painting
(1)

Strokes  heng shu heng pie shuzhe/ heng shu heng shuzhe/ shu

zhe shuwan shuwan
— | al J L — - L
[rii] v v v v v v
=] v v v v v

Another error of substitution is presented in (25).
(25) a) Error
5XA = X ®R F3 NiB,
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Madawei is  Chinese department study Chinese.

b) Expected response
KA 7= #HX%R %3  NiE.

(i) Madawei in Chinese department study Chinese. (Literal
translation)
(i1) Madawei is studying Chinese in the Chinese department. (Correct
translation)
The preposition in (7£) was replaced with the helping verb is (&). This is a
semantic error because the change distorted the meaning of the whole sentence.
The incorrect response in (26) shows that the word pain (%) was replaced
with slim () .
(26) a) Error
fin L &,

He head slim.

b) Expected response
fin 3k &,

(i) He head pain. (Literal translation)
(i1) He has a headache. (Correct translation)
The student may have made this lexical error because the two words share the

same radical (7). This radical is mostly used in writing characters whose meaning
is related to sickness, e.g., X ‘mad’, # ‘cancer’ and & ‘lameness’.

Two lexical errors are seen in (27); one involving the word ‘with’ and another,
‘play’.

(27) a) Error
B0 M wwE. B8 —ie In,

We and father mother together play.

b) Expected response

il B we. 8% —itE =,
(i) We with father mother together live. (Literal translation)

(i1) We live with my father and mother. (Correct translation)
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Even if it would still be correct to use and (%1) instead of with (#R) in this
example, the student failed to recognize the latter character when reading the
text. So, and (%1) replaced the word with (#2). In addition to this error, the word
live () was replaced with play (¥t). The student made two errors of character
replacement within the same sentence.

The error in (28) involves the characters for the words often and swim (28). In
addition to these errors, one word was omitted.
(28) a) Error

B0 % = i K®1T.
We fly goto sea travel.

b) Expected response
B ® £ B B b3
(i) We often go to sea side swim. (Literal translation)

(i) We often go to swim in the sea side. (Correct translation)

In (28), often (&) was replaced with fly (%) while swim (if%ik) was replaced with

travel (K&4T). The replacement of often with fly created a semantic error. The
only similarity seen is the two characters (i and fi) is /7, which is called ‘fang’
in Chinese or square in English translation and which is in the first characters of
swim (ifF0k) and travel (Ji%1T). Most of the strokes of the two words are the same.
The character for swim is written with a radical ( 7 ) that represents water.
The error in (29) involves a Chinese particle which is an aspect marker. The

aspect marker in question usually indicates an incomplete action.
(29) a) Error

IMRF £ F X E K

Young man smile see to me talk.

b) Expected response
IMKF £ B X OB WK
(i) Young man smiling to me talk. (literal translation)
(i1) The young man talked to me while smiling. (correct translation)
The character 7, which is a particle, was replaced with see (). This particle ()

is an aspect marker showing an action that was continuing (incomplete action)
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and is usually placed after the verb. The two characters are similar. Whereas the
character 75 has the strokes  ‘dian’, / ‘pie’ , — ‘heng’, — ‘heng’, —
‘heng’, and / ‘pie’, the character & has / ‘pie’, — ‘heng’, — ‘heng’, / ‘pie’,
while & has three ‘heng’ and & has two ‘heng’. The latter does not have the
stroke N ‘dian’. Table 5 below shows the areas of similarity and differences

between the upper parts of the two characters.

Table 5: The strokes in the upper parts of the characters for the particle (35) and
the verb see (&)

Strokes dian pie heng heng heng pie
% v v v v v v
E v v v v

Table 6 shows that the lower parts of the two characters are identical.

Table 6: The strokes of the lower parts of the characters for the particle (%) and
the verb see (%)

Strokes shu hengzhe heng heng heng
| 7 — — —
®
'

The replacement interfered with the meaning of the sentence. The student may
have missed the correct character because there are many strokes in both
characters and most of them are straight, not curved. The error made by this
learner is similar to what Bi (2017) reports. In his study he found that the students
tend to confuse the usage of a character and its meaning when it is combined
with other characters. They also get confused when there are slight changes or
variation of strokes, for example in the characters X (tai), which means ‘too’ and
K (quan), which means ‘dog’, the minimal difference in the strokes can easily
confuse the learners (Bi 2017: 99). He recommends that the task of learning
characters should be divided into two parts, namely recognition and production,

which demands that learners be able to read more characters than write them.
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This section had the highest number of errors. The next section discusses

substitution of components of characters.

3.2 Substitution of components of characters

There were errors of substitution of components of characters. In this section, we
analyse the errors made by learners through the substitution of components of
characters. Some of these components of characters are radicals. As already
explained, in the introduction to this article, radicals are defined as the graphical
components of the Chinese character.
There was an error made as a result of the substitution of the radical, which is

at the same time a component of a character, as seen in example (30).
(30) a) Error

X Adem KR g e,

This talk red cloth quality is good.

b) Expected response
X 3 den KR & T,

(i) This light red cloth  quality is good. (literal translation)
(i1) The quality of this light red cloth is good. (correct translation)

The word light % (dan) was replaced with talk 1% (tan), thus causing a semantic
error. The first part of the character of the word light has a radical (7 ) while
that of talk has the radical (1). The component (#%) on the right hand side of

both characters is exactly the same. These two words are also close in
pronunciation. The similarity in the characters may have been the cause of the
error in reading. Such errors could be common in cases where the students are
not able to relate the sentence to its background context in order to choose the
right character for that context.

It should be noted that Chinese characters comprise several strokes. These
strokes are combined in a systematic way to form characters or components of
characters. In the texts the students were asked to read, it was observed that
characters with certain components were not read as expected. Learners

substituted the expected characters with others that had different strokes. For
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example, the word still () was replaced with pass (). The component 4~ that

replaced =} does not resemble it. The components look very different. The error

and the expected response are presented in (31) below.
(31) a) Error

= H = = ’| — M,
But | pass need think a bit.

b) Expected response

(i) But | still need think a bit. (literal translation)

(i1) But | still need to think a bit. (correct translation)

The substitution may have occurred because the two characters have the same
radical (i_), which therefore causes confusion among the students. This is a
lexical error, which has in turn created a semantic error.

In (32) miss (/M) was read as little sister (/I\#). The first character of each
word is the same. In the second character, it should be noted that the radical %z,
which means ‘female’ or ‘woman,’ is also the same. This radical can be a
character, if used alone and a component of a character, if combined with
another character. Therefore, in this example, it is a component of a character.

(32) a) Error
Bk

Little sister
b) Expected response
/INIHL
(i) Miss (literal translation)
(i)  Miss (correct translation)
The reader did not correctly recognize the second character. The existence of this
radical (%) may be the source of the error. Radicals, or ¥ & (bu shéu), as they
are known in Chinese, are the graphical components of the Chinese characters.
They are the building blocks that appear within characters, making them easier to
remember. Most radicals have an element of meaning. Apart from making the task
of using a dictionary easier, they help in identifying more building blocks of the

characters one is learning (Collins Chinese Dictionary, 2011: xi). However, it
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should be noted that some radicals may not be a reliable guide to the meaning of
the character. A case in point is the character for good (4f) which consists of two
characters, namely % (Woman) and ¥ (son). They exist as characters on their
own and can also form a different character with a different meaning when the
two of them are combined (Su and Zeng 2015: 2546). It is clear that the radicals
in (33) do not give a clue to the meaning of the word ‘good’.

33) % +F o

Woman +son = good

There were three errors of substitution of components of characters but there

were no errors of substitution of strokes.

3.3 A summary of the categories of errors made

The errors the students made are placed on a table to show at a glance the errors
described in this paper. The first two categories were attested in the learners

reading while the last one was not identified in their reading.

Table 7: Summary of the categories of errors made by the students

Errors Present in the Absent from the

students’ reading students’ reading

Substitution of characters v

Substitution of components of v

characters

Substitution of strokes v

Errors of substitution of strokes were expected, but none were produced. That
is why we suggest that a larger sample should be used to do the same study in
future to find out if this last category of errors would emerge. Table 8 shows the

percentage of errors made by learners in each of the categories.
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Table 8: Percentage of errors made by the students in each category

Errors Frequency Percentage
Substitution of characters 36 92.3%
Substitution of components of characters 3 7.7%
Substitution of strokes 0 0

Total 39 100%

4. CONCLUSION

The study investigated the errors made in reading by undergraduate (Year | to
Year IV) students of Chinese language at the University of Nairobi’s Confucius
Institute. It found out that there were many character-related errors, namely
errors of substitution of characters and errors of substitution of components of
characters. We also expected to find errors of substitution of strokes but there
were none. The greatest number of errors were errors of substitution of
characters. It was noted that some students appeared not to have internalised the
context of the text they are reading to enable them to use the right Chinese
characters. As a result, when they did not recognize characters, they substituted
them with what they felt were closest to the character at hand, thus leading to
errors. From the analysis, it is possible that most of the errors are attributable to
the inadequate mastering of the character usage by the learners. It is important
that learners master all aspects of sound and meaning of Chinese characters. The
inability to distinguish between various characters arose because they either
looked similar or had similar pronunciations.

The results of the analysis are important because they help the students and
their instructors to think of the best strategies to use during the learning and
reading process. This study has added to the field of applied linguistics,
specifically, the area of second language acquisition, which in our opinion is not
an extensively researched area in Chinese language teaching and learning in
Kenya. It has provided a glimpse of the errors learners of Chinese as a second
language make in their reading. This paper shows an area that linguists and other
researchers could work on more. Apart from dealing with the errors made in
reading characters, errors in the pronunciation of Chinese sounds and tones could

be given more attention. A similar research could be done with a larger sample to
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check if errors of substitution of strokes will occur. At the moment there is no
explanation to account for their absence. It should be noted that in our research,
we not only found errors of substitution but also those of addition and omission.
The latter will be published later.
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APPENDIX: A SAMPLE OF READING TEXTS

Year | reading text

SAANMBR2ERE. BEARNZMEAAN , MBREEAN. BEANEPFIRFESN
B, MIBEEARZREIEZATI. EHN, MBHBRARETREE | sk | BF
thiE , £ 5BAER. MBEEEMH. BHEHRRENTEER  EHXRBEPEALN
B BRPEBEEAM. TERBAREONE  EuE ? MBS FHASKAIT Y

—PNERIE | IBERARERM. KARCNIERY |, th#SEIAESE 7 P EE. MRS

English translation

Ma Dawei and Lin Na are good friends. Ma Dawei is Canadian and Lin Na is
American. Ma Dawei studied Chinese in the Chinese Department, and Lin Na
studied art in the Academy of Fine Arts. On Saturday, Lin Na's boyfriend caught a
cold. He had a headache, sore throat, and felt uncomfortable all over. Lin Na is
going to see him. She knew that he liked Chinese paintings very much. On Sunday,
she went to the Chinese shopping mall and wanted to buy Chinese paintings for
him. But she doesn't speak Chinese, what should | do? Lin Na called her good
friend Ma Dawei and asked Dawei to help her. Dawei's Chinese is very good, and

he helped Lin Na buy Chinese paintings. Linna is very happy.

Student 1’s reading
SRAMMBEHAR. SRAZMERA , MBIREEAN. SRNEFXZRFEIN

B, MIBEEARZEREIEZAT. EHN, MBHBRRETRE | iskx | BF
g  EE5MAEFMR. MPEEEM, BIEHMRENTEE , EMRRBETEAN
B, BXPEEZEAM. ARBARVONE  ELE ? MBS HAEIANIT 7

—NEBIE |, IBAREBM., KRAKXIBREG , thEBMEIE T EE., MRS
Error
EHXRuh EHEAMELE,

She goes to Chinese’s shop on Sundays.
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Expected response
EHX # =X FEAM B,

Sunday she goesto Chinese’s mall. (literal translation)

She goes to Chinese’s mall on Sundays. (correct translation)

Student 2’s reading
SRAMMMBZ2HAR. SRANZMEAAN , MBREEAN. SRAEPXZRFSN

B, MIBEEARZRZEIEZATW. 28N, MBHWBARET--, ftb--, -F-, -
#HA--, MBEEFM., HMEMRERTEE, EHXMEFEANER, BXP
EEZEEM. ATRBFARUONE , ELDE ? MBATFAEREANT 7 —18EE 18

KAK--tth, KAWKIBREG , -3 7 P EE. MRS .
Error
B R ?

How power?

Expected response
ELDR?
How to do? (Literal translation)

How to do? (Correct translation)

Error
SR ZhEAMEE,

She goes to Chinese’s shop on Sundays.

Expected response
EHX # = FEAR B,

Sunday she goesto Chinese’s mall. (literal translation)
She goes to Chinese’s mall on Sundays. (correct translation)

Error
ELEtHRENFEE.

She knows also very likes Chinese painting.
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Expected response
# xE R EX PEE

She knows he very likes Chinese painting. (literal translation)

She knows he likes Chinese painting very much. (correct translation)

Year |l reading text

EHEEXRBBRLUE BRSSP DEMEART. REEEMERSENN , e

FARGE 7R, BROZMNBLKNENZAR. FMERLUE  RIREE. B

_.;>
—
=
Tt
&1

B, BEHET—ERT A0 FAK. BFILE— m R EBR
DEE , ALERE. ETEBRENILE  BFEAEFTHRL. BFENELZEEN

BE , AURERE. BILHMXSRIF , BREEX , BFRXR. HNBEBLIX.

ETEIRGE , BRFFENEERL. —X , tiRPHLEERS  ELEKR L
NRY7  MERBER. REEERT  BAFTTDDEAZREE |, 1K 75

A ? AR |, ]ER Y. HEBQMI] : “UROIXEILT 2 ZELIAIRA)
I, "HRFFIRTX R BTFIRWRE , RERTRTEER. HBHMIXK
BHBEFERNR Y. HRTREERT. "FINKREZL—KAL /€S,

“EE  XEMBMNEE? | “NOEXIT?, ZAEEE  2“‘HBRTEHER.

“oE | tEEAE 7

English translation

After vacation last summer, my grandparents and | went on a trip to Canada. My
dad was a teacher in Canada, and he bought our plane tickets. We flew to Canada
from Shanghai. After arriving in Canada, we lived with my father and mother. Dad
rented a house with 90 square meters. There is a small garden in front of the
house, the bathroom is on the left of the entrance, and the kitchen is on the
right. The living room is to the north of the kitchen and the bedroom is to the

west of the living room. To the left of the bedroom is Dad's study, and to the right
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is the guest room. The weather there is nice, although it is summer, it is not too
hot. We often go to the beach for swimming.

After dinner, my grandfather likes to go out for a walk. One day, he went out
for a walk with his grandmother, it was already nine o'clock in the evening, and
they hadn't come home yet. My dad is in a hurry, because neither grandparents
speak English, what should they do if they get lost? Just then, they came back. My
dad asked them, "Where have you been? | thought you were lost.” My grandfather
smiled and said, "I can't speak English, I'm afraid | won't be able to go home. The
name is written down. I'm not afraid of getting lost.” Grandpa took out a piece of
paper from his clothes and gave it to Dad.

"Dad, is this the road name you wrote? "NO EXIT", this is not a road name, it
means "this road is blocked".

"Ah! This makes no sense!”

Student’s reading

EFEXRBBLUE  ZHNSSDDEMEKRRT. HESEMERLZIT , s
ARG TR, RNEN EBRLINENEAR. FIMEXUE , KIREE. B

IB—#elk, BEMRT—EEF , A 90 FAX. BFRIAE—/NEE , #]

Bt
R
]

DEE , AUEERE. ETERERENILY  BFEAEFTHRL. BFEMENZEESH

FE  AURERE. WBILHMXSRIF , BRREX , BFRAR. HINBEBLIX.

ETHBRRME  HFFEREERL. —X , HRPPBEERS K ELZEMR L
NRY  MIERBERR., HRBEBERT  BATTINEAZIREE | M1 78

BA7 ? MAERNE , Mi]EkRY. HEEQMAT : “URIOIEWILY 2 RAELIVRA)
MY, "HFBRTK W BRFRRRE , RIERTERTEER. HBRNX
BHAFENRT. HRTREERT. "FINKREZL—KBL 7ES.

“EE  XELBRER? | “NOEXIT”, ZAZEE , 2 HBRTE"MER.

“0 ! EEANE
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Error

e KT T ER,

He already bought us the passenger ticket.

Expected response
fth 4 BN XHFT7  NE,

He gave wus bought  air tickets. (literal translation)

He already bought for us the air ticket. (correct translation)

The student read #lZE (air ticket) as EZE (passenger ticket). The second
character in each case is (2) which means ticket. They are identical. The student

therefore confused ‘passenger ticket’ with ‘air ticket’.

Error
KAMEE. BE—ittit,

We and father mother together play.

Expected response

M R B8 88 —it2 N

We with father mother together live. (Literal translation)

We live with my father and mother. (Correct translation)

Even if it is still correct to use #1‘and’ instead of IR ‘with’ in this example the
student failed to recognize the latter. In addition to this error the word {‘live’
was replaced with Bx ‘play’. The student made two errors within the same

sentence.

Year lll reading text

HIXEBFNEORAIBEAT. HNEBEADEASZE—TEZNTH. B
RXTFTR, ZFM—TAIEHLEE. E-FREADERBI—HRERENEE , HIE
ARZAZENRE |, WREIFRBARNER  “ME , RENENRREE. RE

ERERE. "RKEL—F K 2—TEE/MAF. HEBRSEE : th21E ? XA

IR0 | MRF BT F © “UREF , HUME R, RELARZITHEDPX , HFEE
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EXER. "IEEEARZZRFEINE , MEMEESER , HRESH. &RIE
BINE—LE—LW. HONZEWRIFE , MEEIRIEPX.....—=IL , FEA)
BRER A%, BERESRIC/LAMTT  ERWFE -  BER—TF. "®E

BEAT  MATRERAEM LRI, —RIL , thEE—REILETR | IBTEHRBIHK
MF L RABMMNIY | “XZ2RIRWE. "HEFEIMEX LM, FEHEZ

7, R 7T—8 “REA?”, IMRKFER  “RNSRETH , ARINR Y —MDFER
WIER. XERMNBA , LOAHAVBERMIE. T UALERAIEBIEFMIUE 2 3

AILLGIRITERIANG ? "R/ RE R, XAV FRERXFR L AARIG ?

English translation

The fourth day of my study abroad in the United States was Valentine's Day. |
know that Valentine's Day is an important holiday in the West. After class that
day, | went for a walk on the street alone. In a shopping mall, | saw a very
distinctive shirt. When | was thinking about whether to buy it or not, | heard
someone say in Chinese: "Miss, this shirt is very suitable for you. You must be very
beautiful wearing it. ." | looked back and it was an American boy. | find it strange:
who is he? | don't know him! The young man smiled and said to me, "Hello, my
name is Jimmy. | have studied Chinese in Beijing for two years, and | like Beijing
very much.” | am very happy to hear that the American speaks such fluent
Chinese, and he has also been to Beijing. We chatted while walking in the mall.
We talked about China from the United States, from living habits to Chinese...
After a while, we have reached the sixth floor. When he saw that there was a
flower shop, Jimmy said to me, "Please wait for me.” | thought that it was
Valentine's Day, and he might have to buy flowers for his girlfriend. After a while,
he came over with a bunch of flowers, put the flower in my hand, and said to me
very seriously: "This is a flower for you." | didn't expect him to do this, | don't
know what to do, only said one sentence: "Why?" The young man said: "For today's
festival, and also for me, | met a beautiful girl. This is my business card with my
phone number and address on it. May | know your phone number and address?

Can | call you? "I think it's weird. Is this how guys here find girlfriends?
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Student’s reading

HEXERFMENRUZEAT. RMEBANTEALZ—TEENTH. BXT
TR, ZR—TAIFHLEE. E-FENEREI —HREBENTE , REAESE
ZAZENEE |, WEIFABEARNER . “ME , IETENRBREE. RET—
EREFER. "HKREL—F , B—1TRE/MAF. ZREERTFE I ? ZF AR
BT MRFRBEN R - “IREF, BRUER. RELREITHED , ZFEEFENR

R "FHEXEARZLARMEPNE  MEMAEETIER , RS, BRIJEED

B-E—200. BONZEWRSE , MEFIBRIIRFX.....—=JL, BIEL
ER A%, BRBESRTC/LAMTS SRR  “BEFEH . "HB  SXEF
ATS, HETREEAM U AR L. —RIL , thEFE—REILEDR , IBERBIRMF
ARNEHXN R - “XE2AMRITE. "HEAERIMMSXAM , FMEZEALT
RiZ7—a: “Afta?”, IMKFIR . “ASKITH , BARIANR Y —IIERHE
IR, XRHMBR , EOBAFWBIEFMU. AT LI E R IE MG ? 3R

LBRFTEBIEN ? "HER/REFE. XM FREXFRLAENE ?

Error
HErREE AN R ELRFINE.

| heard an American speak how fluent Chinese.

Expected response

* OmrEl E=EA i3 X2 wmARy ONE.

I heard an American speak such fluent Chinese.( literal translation)
| heard an American speak such fluent Chinese.( correct translation)

The student read X4 ‘zhé me’ ‘such’ as /&% ‘zén me’ ‘how’.
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The next section recommends ways in which the errors in reading Chinese
characters can be eliminated.

Error
ZRHET—8: “Afta?”
| only said one bag: “why? ”

Expected response

ER Wy — A5 “Rfta”
| only said one sentence: “Why? ”(literal translation)

| only said one sentence: “Why? ”(correct translation)

The student read 4] ‘sentence’ as & which means ‘bag’. A section of the
characters resemble. One character, & ‘bag’, has extra strokes. The replacement

of one character with another while reading the sentence distorts its meaning

completely.

Year IV reading text

DRSS | BRI ESL R A ?

5
T RER-HESRFTWVER  TESMRARMIELNE.
5 BE—ERER-—HAenEE , BEXRES.

E=8

AT A—EEZFABHIE ? HMAREE  thF R | R ABELLH

L

SIE,
 EERAMRZFERER B EF—HASriEal |
CY, B —HESHACER , ZREWF—ME.

D XERABNRERE |, S48 2

S S

: 890 1R,
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T e P XAR ? BBMNERKREBA=ZER | BENEEANAZEE , o
Xy =g ?

B XEMAHNETY |, BNOXERHAZNSZELERN , MBAFI—4—#ith
e, FMERTE  MIT. FIHMERYE, EEXMHEE , ANIHNNEEAR 2
AINEIEER , MR EEREGEEAITEERN.

T XA, REZIEER N FEHEFE—E.

B 0F  EEIFFEEE. RRIETHRERZHB TR AR MR E T E#X A FHIE

a7,

English translation

Man: Welcome, what would you like to buy?

Woman: | want to buy a cheongsam that suits me to wear to my friend's wedding.
Man: Then you must choose a red cheongsam, which looks very happy.

Woman: Why do you have to wear red? My friend got married and she only wore a
white wedding dress. | couldn't be happier than her.

Man: It is because the bride is dressed so elegantly that you have to wear a red
cheongsam!

Woman: Yes, then please find a red cheongsam that suits me. I'll try it on first.
Woman: The light red is of good quality. How much is it?

Male: 890 yuan.

Woman: What? so expensive? Ordinary brand-name clothes are only two or three
hundred yuan. Your cheongsam is not a famous brand, why is it so expensive?
Man: You don't know that, our cheongsam is not produced by machine, but made
by hand one by one. Not only looks good, but the workmanship and embroidery
are very good. You see, this cheongsam is made of fine silk and satin from Suzhou,
embroidered by Suzhou masters, and no two cheongsams are exactly the same.
Woman: You said that, | should have bought it. But | have to think about it.

Man: Okay, think about it again. | guarantee that you will travel all over the city
of Xi'an and you will never find a cheongsam with such good materials and

workmanship.
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Student’s reading

B Wil | BREELRTA?
C RBELHESRFNER  FTESMARELRE.

 PBE—EEEFE—FAeNER , BERRES

R B

AT L—EBRFAENE ? HMAREE Y FREIFY | K A8t
ESE.

 ERAMRFEREE B EF—MHArEAL |

CY, B —HESHNAeER , TEHF—HIE.
XHRABHNRERE , ZOHEW

1 890 £,

oo % " W

L P RAR ) EENARKRUHAZER , BXNEEANAZER , B
N~

B XEmARNEY |, BNXEAAFAZNSRELRN , MBAF I —4—#:ith
. FMEFFI  MIT. FIEHFERE. BEXMFEE , ANISIHNNEAR =
AINEMBEN  MERAERGEEAITEMERN.

T ERAR, REREER N FEREBE—E.

57, EEFFERE. BRRILECHEEAZHEHEAZMRANGMLEHXAGFHE

|7,
Error
X RABHKRREAE.

This talk red cloth quality is good.

Expected response
X % AderR RE A

This light red cloth quality is good.( literal translation)
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The quality of this light red cloth is good.( correct translation)

The student read % ‘light’ as 1% ‘talk’. The difference is in the first part of each

character.
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